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1) Find the slope of the line through the points (-3,—6) and (8,-5).
1 1 3
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2) The slope of the line passes through (2,6) and (8,—3)is

3 3 2 2
Al—— — [c]-= =
22 3 @3

3) The slope of the line passes through (2,2) and (—4,8)is
-1 1 -3 [Db]3

4) The slope of the line 2y =—6 is
[A] -3 2 [c]0 [D] undefined

5) Find the equation of the line with slope -2 and ¥ —intercept 3 is -
[Aly=-2x+3 [B]y=-2x-3 [c]y=2x+3 [D]y=2x-3

6) Find the equation of the line through the point (-3,4) with slope —2.
y =—2X —2 y =-2x +1 y=2x-2 [D]y=-2x-10

7) Find the equation of the line through the point (1,2) with slope 5.
[Al]y =5x -7 [B]y=5x+1 [c]y=5x+3 [D]y =5x -3

8) The equation of the line passes through the point (-3, 0) with slope 5 is

[A] y =5x —15 [B] y =5x -3 [C] y =5x +15 [D] y =5x +3

9) The equation of the line with slope m =—2 and passes through (—5,1) IS
Aly =-2x 11 y=-2x+6 [c]y =—2x +9 D]y =-2x -9

10) Find the equation of the line through the points (4,3) and (2,8).
y =—gx +1 y =gx +13 [Cly :—gx +7 [D]y =—gx +13

11) The equation of the line passes through (4,—3) and (8,-5) is

Aly =—2x+5 [B]y=-2x +11 y=—XE+1 IEIy=—XE—1

12) The equation of the line passes through (7,6) and (8,9) is

y =-3x +27 y =3x =15 [c]y =X§+1—31 D] y =3x +15




13) The slope and the y —intercept of 2y —3X =—6 is

3 3 2 2
y=-6Bl7.y=-3El-5.y=-6 [b7.y=-3
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14) Find the y —intercept of the line 3x —2y —1=0.
1 1 1 1
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15) Find the slope of the perpendicular line to the line 5x —2y —1=0.

2 2 5 5

Al— - = C| = - —

= : > B
16) Find the slope of the parallel line to the line 5x —2y —1=0.
2 2 5 5

Al— - = C| = - —

= : > B
17) The slope of the perpendicular line to the line 3y +2x —6=0 is
2 2 3 3

Al— - = C| - = —

: : S 1
18) The slope of the parallel line to the line 3y +2x —6=0is
2 2 3 3

RS -3 -5 B3

19) The equation for the line passes through (—2,—1) and parallel to the line
2X +5y —10=0is

5 2 1 2 2 9

20) The equation for the line passes through (4, —1) and parallel to the line
2X =3y =3is
2x —3y =11[B] 2x =3y =-5 [c]3x -2y =-5 D] 3y —2x =-3

21) The equation for the line passes through (1,4) and parallel to the line
2X —6y +5=0is
3y =x-13[B] 3x+y=-7 [c]3x+y =7 [D] 3y =x +11

22) The equation for the line passes through (—3,6) and perpendicular to
the line 3X —y —8=0is

y =3X +15 yz—%x +7 y:—%x -1 [D] y:—%x +5




23) The equation for the line passes through (4, —1) and perpendicular to the
line 2x —3y =3 is
2x —3y =3 [B] 2x +3y =10 [c]3x +2y =-2 [D] 3x +2y =10

24) The equation for the line passes through (1,4) and perpendicular to the
line 2x —6y +5=0is
3y =x-13[B] 3x+y =-7 [c]3x +y =7 [D] 3y =x +11

25) The slope of the line 2X =—6 is
[A] -3 2 [c]0 [p] undefined

26) The equation of the vertical line passes through (—3,—6) is
[A]ly =-3 x=-3 [cly=-6 [DJ]x=-6

27) The equation of the horizontal line passes through (—3,—6) is
Aly =-3 X=-3 [c]ly=-6 [D]x=-6

2
28) The equation of the line with slope m = 5 and y —intercept 4 is

2 2 2 2
y=§X+4 y=§X X=§Y+4 @ngy

29) The equation of the line with slope m =—3 and passes through the point
of the intersection of the two lines 3Xx —y +1=0and y =2X +3 is

Aly =3x +13 y=-3x+1[c]y =-3x+1 [p]y =-3x +13

30) The midpoint of the segment with endpoints (4,-9) &(—12,-3) is
(4,6) (-4,-6) [c1(8-3) [O] (-6,—4)

31) The midpoint of the segment with endpoints (\/§ —1) &(3\/§,4) is

9(263) @(53) 0265 (23]

32) The midpoint of the segment with endpoints (—3,—1) &(9,4) is

s(e2) w(33) e[s3) weo

33) The intersection point of the lines y =—2 and X =3 is

& (-23) B (3-2) E£1(30) [ (0,-2)
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34) The equation for the line passes through (E—g) and parallel to the

line 4Xx —8y —1=0is

1 11 1 11 1 11
Aly ==X +— ==X -= [cly=—>x-= =—2X
y > X y X T cly > 12@ y
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35) The equation for the line passes through (%—%) and perpendicular to
the line 4x —8y —1=0is
1 1 1 1
y =-—2X +§ y =-2X —§ cly =2x +§|§| y =—2X _E

36) Find the equation of the line through (Gﬁ,—ﬁ) with slope —%.

Y:_%x y:—%x—?,\/g y:%x+2\/§ |E|y=—%x+2\/§

37) Find the equation of the line through (Gﬁ,—ﬁ) and parallel to the line
with slope =
p 5

Aly =2x [B]ly=2x-13V2 [c]y =—2x +13J2 [D]y =2x +13\2

38) The equation of the line segment joining the points (1,4) and (7,—2) is
Aly=x+4+5 [B]y=-Xx-51[]y=-x+5 D]y =—Xx -3

1 2
39) Fine the equation for the line passes through the point (E,——j and

3
perpendicular to the line segment joining the points (1,4) and(7,-2).

7 7 7 1
y:x—g y:—x—g y:x+g |E|y:_x_E

1 2
40) Fine the equation for the line passes through the point (E—gj and

parallel to the line segment joining the points (1,4) and(7,—-2).

7 1 1 1




